
Probabilidades de una Peonza (B)Calcule la probabilidad de cada giro.

P(≥4) = P(<3) = 
P(≥6) = P(<12) = 
P(11) = P(>11) = 
P(≥3) = P(≥5) = 
P(10) = P(<5) = 
P(≤4) = P(>2) = 
P(<9) = P(>12) = MatesLibres.Com
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Probabilidades de una Peonza (B) RespuestasCalcule la probabilidad de cada giro.

P(≥4) = 4/5 P(<3) = 1/54/5 1/5P(≥6) = 1/5 P(<12) = 5/51/5 1P(11) = 0/5 P(>11) = 0/50 0P(≥3) = 4/5 P(≥5) = 3/54/5 3/5P(10) = 0/5 P(<5) = 2/50 2/5P(≤4) = 2/5 P(>2) = 4/52/5 4/5P(<9) = 5/5 P(>12) = 0/51 0MatesLibres.Com
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